
One Piece Footrest - Adjustable
89



One Piece Footrest - Adjustable
89

Item
Number Part Number DescriptionNote

Quantity Per
Package Assembly

04685X001-NLA NLA - Button, Spring Push 1 11 A
40188X009 Button, Single Snap 1 11 B

04470X136-NLA NLA - Tube, Pivot Spacer 1 12
04470X137-NLA NLA - Tube, Pivot, Insert 1 13

60284X001 Screw, Socket Head (1/4-20 x 1/2") 1 14
48247X011-NLA NLA - Footboard w/o Hardware 1 16 C
48247X012-NLA NLA - Footboard w/o Hardware 1 16 D
48247X013-NLA NLA - Footboard w/o Hardware 1 16 E
40183X004-NLA NLA - Screw (#10-32 x 1-7/8") 1 27

1107321 Nut, Low Cap (5/16"-24) 1 18
11232X009 Bolt, Lug  (5/16-24 x 1-3/8") 1 19

7930365-NLA NLA - Locknut (#10-32) 25 210
16347X000-NLA NLA - Washer, Nylon (3/16 x 7/16 x 1/8") 1 211
04470X138-NLA NLA - Support, Footboard 1 112

1017528-NLA NLA - Mat Footboard 1 113 C
1016951-NLA NLA - Mat Footboard 1 113 D
1016952-NLA NLA - Mat Footboard 1 113 E

04706X079-NLA NLA - Footrest Assembly, One Piece Adjustable,
Chrome

1 114 C
04706X080-NLA NLA - Footrest Assembly, One Piece Adjustable,

Chrome
1 114 D

04706X081-NLA NLA - Footrest Assembly, One Piece Adjustable,
Chrome

1 114 E
A - Before 7/98  
B - After 6/98  
C - 12" Wide Chairs  
D - 14" Wide Chairs  
E - 16" Wide Chairs  

NOTE:

 


